This drawing it covers are the property of OBSTA. This document cannot reproduced, copied or cummnicated with third parties without the authorization of OBSTA.

Ce document est la propriété d'OBSTA. Il ne peut étre reproduit ou communiqué a des tiers sans I'autorisation écrite d'OBSTA.

Les dimensions sont en mm

\All dimensions are in mm

A3

- 653 _ B 695 _
4x DRAIN HOLE A
> | o >
|
@ 600
|
|
|
|
|
“ E
-4 @ 2
|
|
|
|
|
|
|<— 1
A
XK
insert 1055 {r V4 , REP JAW @ CABLE
55 B 5 A 6,5-12,5
3 X B 12,5-18,5
: C 18,5-24,5
D 24,5 - 30,5
4 E 30,5 - 36,5
F 36,5 - 42,5
COUPE A-A
ECHELLE T :2
The warning spheres can be installed on ground cable or on OPGW
with armor rod Torque 15 N.m.
A [25/06/20 | TMELINE [CREATION A ROYER
IND/REV | DATE | DESSINEPAR: NATURE DES MODIFICATIONS/MODIFICATIONS A ROUVEAR.
bsta SPHERE PLASTIQUE OBSTA
4 ECROU FREIN M10 LOCK NUT M10 INOX A4 STAINLESS STEEL 6 Usine do 0 CODE Y ———
sine de Reims : : PAGE:
3 RONDELLE ETROITE M10 | NARROW WASHER M10 INOX A4 STAINLESS STEEL 6 3, Impasse de a bianchisseric .
gfogé; REIMS Cedex - France DRA W/NG' O_C U S_OOO80_S P H A ] /]
2 1/2 MACHOIRE 1/2 JAW EPDM EPDM 4 Tel433 (0) 326 857 400
] 1/2 SPHERE 1/2 SPHERE PLASTIQUE PLASTIC 2 N R OJBCT NUMBER: TOLERANCES: MATERIAL CANCELED AND SEPLACED:
Rep Désignation Description Matiére Material Qty g_ PR1804 ECHELE: 1:5 N a B}

O-CUS-00080-SPH-A




	A3-OBSTA
	Vue de mise en plan2
	Vue de mise en plan3
	Vue en coupe A-A
	Vue de mise en plan5


